
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Addition and 

Subtraction Test 3 

Name : ____________________ 

Score : _________ out of 20 



 

 

 

 

  

4,050,040 = 4,000,000 + ________ + 40 

231 + 341= 

2,793 - 100 = 



 

 

 

= 625 + 197 

4,125 + 5,236 = 

5

4

3.94 - 1.67 = 



 

 

 

 

 

____ + 24 = 365 

= 625 - 197 

6,987 + 100 = 



 

 

 

576 - 173 = 

2,736 – 1,295 = 

982 + 353 = 



 

 

 

29 - 6.741 = 

358 - 215 = 

19.25 + 14.92 = 



 

 

 

 

 

 

12.34 + 2.8 = 

8,321 + 9,723 = 

8,244 + 703 + 565 = 



 

 

 

 

 

 

10,000 – 2,873 = 

8,123 – 4,872 = 


